
How many 0.75 
tins hold as 

much paint as 9 
tins holding 1 L 

each?

9 divided by 0.75

0.75 divided by 9

9 multiplied 
by 0.75

Ham costs $9 
per kg. How 
much would 
0.75kg cost?

John runs 10m in 
1.5 seconds. How 

long would he 
take to run 1m?

Pine bark costs 
$10 per m3. How 
much does 1.5m3 

cost?

9 x 0.75

10 divided by 1.5

10 x 1.5

9 ÷ 0.75

0.75 ÷ 9

10 ÷ 1.5

10 multiplied 
by 1.5

1.5 divided by 10

1.5  ÷  10 9 x 0.75

9 miners found a 
0.75 nugget. 
What is each 

miner’s share?

Jenny runs 10m 
in 1.5 seconds. 
What’s this in 

m/sec?
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